Homework Quiz 1, Day 6, 15 Sep 2022 MA 131M

1. Below on the left is a velocity graph for a journey.
X ) (a) In a sentence or two, describe this journey.

~ (b) On the blank graph, draw the corresponding displacement curve. Label all axes
X 9 and important points accurately.
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2. Below on the left is a displacement graph for a journey.

9 (a) On the blank graph, draw the corresponding velocity curve. Label all axes and
. important points accurately.

){g (b) In a sentence or two, describe this journey.
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el O 3. Using the definition of the derivative, if f(z) = 2z® +1, find f'(z).
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X LT 4. Suppose you are given a velocity curve. How do you find the corresponding displace-
ment curve? One sentence is enough.
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